HESS’ LAW 3

Find : 2 C(s) + 3 Hy(g) — C,H,(g) AH= ?
Given

(1) C,Hg(g) + 3 Cl, — C,H;Cl(g) + 1 Hy(g) AH=+  8.6kJ
(2) C,H,OH(1) +30,(g) — 2CO0,(g) + 3H,0(1)  AH= — 1409.2 kJ
(3) C,H.Cl(g) + H,0(1) —> C,H.OH(I) + HCl(g) ~ AH=+ 33.5kJ
(4) C(s) + Oy(g) — CO4(g) AH= — 393.5kJ
(5) H,(g) + 1 O4(g) — H,O(1) AH= — 285.8 kJ
(6) LH,(g) + 1 Cl,(g) — HCl(g) AH= — 92.3kJ
rev (1) [CyHyCl(g) + L Hy(g) — C,Hy(e) + W AH=—  86kJ
rev (3 CH.0H() + [l — C.H.Cle) + IOl AH=- 335
rev (2 2CO,(e) + [N — C.HOH() + [ AH=+14092kJ
(6) 1H,(e) + FOBE — I AH=— 92.3kJ
2 x (4) 2C(s) + I — 2CO,(g) AH= — 787.0kJ
2x (5 2H,(g) + S — AH= — 571.6 kJ

2C(s) + 3Hy(g) — CyHg(g)

AH= — 83.8kJ
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